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Les quatre opérations ..

1./ Pose en colonnes et effectue ces quatre

opérations :

953,56 + 354 + 488,07 = 1 795,57

'9'53,50
+ 354,00
+ 488,07
1795,57

863 — 489,45 = 373,55

8'6'3,'0'0
— 14181914 5
373,55

950,47 x 12,3 =11 690,781

90768:12=756,4

2]/}]/‘ 90768 12
950,47 -84 7564
X 12,3 :g
285141 076
+ 1900940 79
+ 9504700 048
11690,781 -48
00
2./ Pose en colonnes et effectue ces quatre opérations :

47 682,47 + 28 004,8 + 36 752 = 112 439,27

4'7'68'2,47
+ 28004,80
+ 3675200
112439,27

9 543 - 861,564 =8 681,46

9'5'43,'0'0
_ 118 611,15 4
8681,46

7.614x0,15 =1,1421

2/3

/7,614
x 0,15
38070
+ 76140
+ 00000
1,14210

81 460,5:15=15430,7

814605 15
-75 5430,7
64
=60
46
-45
10
-0
105
-105
000




